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QUESTION 1

As part of solution tuning, you want to add online, application-consistent snapshots to a customer\\'s environment.
Which tasks must be performed? (Select two.)

A. Delete the snapshot

B. Stop the VM

C. Release file locks

D. Flush the buffers

E. Quiesce the file system

Correct Answer: DE

QUESTION 2

The demonstration of iISCSI Persistent Ports during an HPE 3PAR StoreServ proof of concept fails. What is a possible
cause of failure?

A. The connected switch gets a loss_sync of the HPE 3PAR StoreServ port and disconnects the port immediately.
B. The connected switch does not accept an unsolicited ARP and does not update the IP address mappings.

C. Zoning is not implemented correctly, and the host could not connect to the partner port.

D. Port Persistence is not configured correctly, so the partner port could not be activated in a timely manner.

Correct Answer: D

QUESTION 3

You are planning an HPE StoreVirtual architecture based on a customer\\'s physical site configuration. The customer
has two physical sites and wants to span the cluster between them and requires that all sites should be peers.

What should be done to meet this customer\\'s requirements?

A. Configure a Failover Manager in each physical site.

B. Configure the cluster to span both sites, and configure one site as primary site.
C. Create an additional logical site at each physical site with a Failover Manager.
D. Create a logical third site to provide a Failover Manager.

Correct Answer: B
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QUESTION 4

You are designing a Fibre Channel storage solution for a customer who is currently attaching all hosts through the
Ethernet and the TCP/IP protocol.

What is an advantage of choosing Fibre Channel over TCP/IP?
A. Less costly networking hardware

B. Support for greater distances

C. Less overhead

D. More robust error correction

Correct Answer: D

QUESTION 5

At which level is an HPE 3PAR StoreServ deduplication performed?
A. CPG

B. VWV

C. RAID

D. RCG

Correct Answer: C
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